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Consider following statements for
Pradhan Mantri Rashtriya Bal
Puraskar (PMRBP) awarded on 26
December, 2024 and choose the
correct option :

- Statement A: 17 children from

15 States/UT’s have been
selected for the award.

Statement B: The Government
of India confers PMRBP to

children for  exceptional
achievements in seven
categories. _

(1) Both the statements A and B
are true.

(2) Statement A is true but
statement B is false.

(8) Statement A is false and
statement B is true.

(4) Both the statements A and B
are false.

(5) Question not attempted

In December 2024, which of the
following countries has officially
declared ‘the Bald eagle’ as its
National bird ?

(1) Canada (2) UK

(3) UAE (4) US

(5) Question not attempted

Who took the charge of Syria as a
caretaker prime minister with the
backing of the former rebels who .
toppled president Bashar-Al-Assad
in December 2024 ?

(1) Mohammed al-Bashir

(2) Salim Hatum

(8) Mohammad Ghazi Al-Jalali
(4) Imad Khamis

(5) Question not attempted

Recently Gramin Bharat Mahotsav

2025 has been organised in New

Delhi. The motto of this Mahotsav

was :

(1) Gaon Badhe, toh Desh Badhe

(2) Gaon Chale, toh Desh Chale

(8) Gaon ka Vikas, toh Desh ka
Vikas

(4) Sashakt Gaon, toh Sashakt
Bharat

(5) Question not attempted
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- (1) Sirohi

How many youth were honoured
with the Youth Icon Award at the
State Level Youth Festival of
Rajasthan on 12 January, 2025 ?
1 9 2 10

@ 1 (4) 13

(5) Question not attempted

“Karmabhoomi se Matribhoomi”
campaign has recently been
started in Rajasthan. In which of
the following - districts this
campaign has not been started at
the initial level ?

(2) Pali
(3) Jodhpur (4) Jaisalmer
(5) Question not attempted

Recently launched Rajasthan’s
Integrated Clean Energy Policy
2024 aims to achieve how much
renewable energy capacity by 2030 ?

(1) 100 GW (2) 125 GW
(3) 250 GW (4) 500 GW
(5) Question not attempted

The aggregate of weather
conditions over a long period of
time is called as :

(1) Climatic Index

(2) Climate

(3) Atmosphere

(4) Atmospheric Pressure
(5) Question not attempted

Sanskar Saraswat became the first
Rajasthan shuttler to win a senior
national men’s doubles title at the
Yonex-Sunrise 86th Senior National
Badminton Championships held in
December, 2024 in Bengaluru. He

belongs to which district of
Rajasthan ?
(1) Jaipur (2) Udaipur

(3) Jodhpur (4) Ajmer
(5) Question not attempted
o
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12,

13.

14.

15.

A weed that depends partially or
fully for its Growth on its host
plant is called as

(1) Parasitic weed

(2) Obligate weed

(3) Noxious weed

(4) Alien weed

(5) Question not attempted

The lack of resistance of a soil to
soil erosion is called as

(1) Erodibility

(2) Erosivity

(8) Soil Erodibility factor
(4) Land capability

(5) Question not attempted

Agri-Silvi-Pasture of

Agroforestry includes :

(1) Crops + Trees

(2) Trees + Pasture

(3) Crops + Trees + Pasture /
animals

(4) Crops + Fruit Trees +
Multipurpose Trees

(5) Question not attempted

Which is true

aestivum wheat ?

(1) Emmer wheat

(2) Tetraploid wheat having 14
chromosomes
(3)

Common bread wheat
(4) Durum wheat
(5) Question not attempted
What is the Moisture Deficit Index -
(MDI) value for semi-arid climate ?
(1) O0to33.3 (2) —33.3t0—-66.6

(8) O0to-33.3 (4) Above—66.6
(5) Question not attempted

system

for Triticum

From the following, Plant elements
that provide basic structure to the
plant are :

(1) N,PandS

(20 C,HandO

(3) K, Caand Mg

(4) Fe, Mn and Zn

(5) Question not attempted
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17.

18.

19.
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o

Shelf life of liquid bio-fertilizers
can be upto

(1) 1-2 months (2) 3-4 months
(3) 1-2years (4) 3-4years
(5) Question not attempted

Percentage of water stored in root
zone to the water needed in the
root zone is called as

(1) Water storage efficiency
(2) Water conveyance efficiency
(3) Water application efficiency
(4) Water distribution efficiency
(5) Question not attempted

ICAR-Indian Institute of Farming
System Research is located at

(1) Karnal, Haryana

(2) Bikaner, Rajasthan

(3) Bhopal, Madhya Pradesh
(4) Modipuram, Uttar Pradesh
(5) Question not attempted

Agronomic practices like, contour
cultivation, tillage and strip
cropping etc. are suitable for
controlling soil erosion on land
having slope

(1) 2% 2 <4%

B) <6% 4) <8%

(5) Question not attempted

When the soil is in good tilth, the

capillary and non-capillary pores
would be roughly in ratio

1) 11 (2).5.1:2

3) 13 (A | 2

(5) Question not attempted

In remote sensing, health of

vegetation can be assessed by NDVI
(Normalized Difference Vegetation
Index) whose value ranges between :

(1) -1to+l  (2) Oto+l
(3) 0to+100 (4)
(5) Question not attempted
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22,

23.

24.

25.

26.

Which of the following minerals is
considered as natural source of
boron ?

(1) Sphalerite

(2) Chalcocite

(3) Tourmaline

(4) Pyrolusite

(6) Question not attempted

Which of the following instruments
is used for the measurement of
soil-water potential ?

(1) Hydrometer

(2) Lactometer

(3) Potentiometer

(4) Tensiometer

(5) Question not attempted

In India, acid soils are widely

distributed in which of the

following regions ?

(1) Western Rajasthan

(2) Eastern and North-Eastern
States

(3) Peninsular Plateau

(4) Gujarat Plains

(5) Question not attempted

Which soil micro-organism is
responsible for nitrification ?

(1) Nitrosomonas '

(2) Rhizobium

(3) Azotobacter

(4) Pseudomonas

(5) Question not attempted

In India, which soils are popularly

known as swell-shrink soils ?
(1) Alluvial soils

(2) Black cotton soils

(3) Desert soils

(4) Laterite soils

(5) Question not attempted
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27.

28.

29.

; 30.

(D

Which of the following is an
example of 1 : 1 type clay mineral ?

Montmorillonite
Kaolinite
Vermiculite
Illite

Question not attempted

2
(3)
(4)
®)

The buffering capacity of a soil is its

ability to which of the following ?

(1) To retain soil water during
drought.

(2) To resist changes in pH upon
addition of acids or bases to soil.

(3) To absorb and store heat in
soil.

(4) To release nutrients from soil
to plant.

(5) Question not attempted

Arka Nutan is a variety of

(1) Bottle gourd

(2) Bitter gourd

(3) Chillies

(4) Tomato

(5) Question not attempted

The term ‘Pricking’ belongs to
which of the following ornamental
crops ?

(1) Ornamental trees

(2) Flowering annuals

(8) Turf grasses

(4) Water plant

(5) Question not attempted

Which of the following refers to the
amount of moisture held by the soil
after the excess gravitational
water has drained away ?
(1) Hygroscopic coefficient
(2) Moisture equivalent
(3) Wilting coefficient
(4) Field capacity
(5) Question not attempted
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35.

Which one of the following vegetable
is highly tolerant to salt ?

(1) Tomato

(2) Okra

(3) Radish

(4) Bitter Gourd

(6) Question not attempted

Given below are two statements :

Statement-I : Diploid varieties in
apple are self-fruitful.

Statement-II : Triploid varieties
in apple are self-unfruitful.

In light of the above statements,

choose the correct answer from the

option given below :

(1) Both Statement-I and
Statement-II are true.

(2) Both Statement-I and
Statement-II are false.

(3) Statement-I is true but
Statement-II is false.

(4) Statement-I is false but

Statement-II is true.
Question not attempted

(6))
Axillary raceme inflorescence is
found in which variety of bael ?

(1) Thar Neelkanth

(2) Pant Aparna

(3) Pant Shivani

(4) Goma Yashi

(5) Question not attempted

‘Durgapura Kesar’ is an important
variety of —

(1) Musk-melon

(2) Water-melon

(83) Cucumber

(4) Bottle Gourd

(6) Question not attempted

Which of the. following has the
highest food value ? (Calories/100 g)
(1) Bael

(2) Apple

(3) Mango

(4) Guava

(5) Question not attempted
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38.

For which digestive condition is
Isabgol often recommended ?

(1) Acid reflux

(2) Constipation

(38) Gastritis
(4) Irritable
(IBS)
Question not attempted

Bowel Syndrome

®)

Which statement is true ?

(1) Acidity is low when banana
ripes. '

(2) Acidity is high when banana
ripes.

(3) Acidity doesn’t show any
trend when banana ripes.

(4) Acidity remains at par to
unripe stage in banana at ripe
stage.

(5) Question not attempted

At what stage can gladiolus spikes
be harvested for commercial purpose ?

(1) When the first bud shows
colour

When éll buds are fully open

When the
mature,

2
(3) spike is fully
but buds are

unopened
4)
(5)

At the bud initiation stage

Question not attempted

Among the following, which source
of resistance is donor for salt
tolerant trait in tomato ?
(1) L. Pimpinellium
(2) L. Hirsutum
(3) L. Peruvianum
(4) L. Cheesmanii
(5) Question not attempted
0-
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41.

42.

43.

44.

Which one of the following
techniques is used to remove
unwanted flower buds to get
vigorous flowers in rose ?

(1) Pinching (2) Pulsing
(3) Stenting (4) Disbudding
(6) Question not attempted

Which 1is double
variety of mango ?
(1) Arka Anmol
(2) Arka Suprabhath

(3) Amrapali

(4) Arka Udaya

(5) Question not attempted

cross hybrid

Jantar-Mantar variety of rose
bears which colour flower ?

(1) White (2) Pink

(3) Red (4) Yellow

(6) Question not attempted
Match the following in accordance

to ethylene evolution (Secretion) by
using codes :

A. Verylow i Pomegranate
B. Moderate 1ii. Banana
C. High iii. Papaya
D. Very high iv. Sapota
Codes :

A B C D
(1) BV Fie i
2) il iv o il
o) et R R T
) cdi- dve il d
(6) Question not attempted

. Among the following fruits, which
fruit has minimum moisture
content ?

(1) Date Palm (2) Mango

(3) Banana (4) Jackfruit
(5) Question not attempted
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46.

147

48.

49.

In which stage of cell division,
homologous chromosomes from
each bivalent moves to opposite
poles ?

(1) First Telophase Stage

(2) First Anaphase Stage

(3) Second Telophase Stage

(4) Second Anaphase Stage

(5) Question not attempted

Which breeding procedure should
be adopted, if  there is
preponderance of non-additive
gene action ?

(1) Pure line section

(2) Mass selection

(3) Composite breeding

(4) Heterosis breeding

(5) Question not attempted

Which one of the
statement is correct ?

following

(1) Ethyl methane sulphonate is
an important base analogues
mutagen.

(2) Matured tissues of a plant
have more response to
mutagenic treatment.

(3) Most effective mutagen may
not be the most efficient one
too.

(4) Mutagenic efficiency is the
frequency of a given mutation
at a given dose of mutagen
employed.

(5) * Question not attempted

Benzoic acid is the most effective

against :

(1) Actinomycetes

(2) Virus

(3) Bacteria

(4) Yeast

(5) Question not attempted



50.

51.

52.

53.

54.

ol Ty ot BreeRt e Y B, dafa
7 fhpar wer i A= wgo wufy
(FeTEY) Seatfed gnft 7

(1) 8 (2) 16

3 27 (4) 64

(5) TG T

HIATCH T S eI &

(1) STATERoT & HH 9T 21d & |

@) nfemsiig gro Frafaaa €

(3) drehshia grr Pt g € |

(4) reaq famw yefifa ww § |

(5) 3TITHG WeA

f= 4 @ 3w TP st stien %
I T B A1 Tl 1 TA R 7
(1) st arEaT x it sferfasn
(2) fepT Ium x wftwes g

(3) mmxmm
(4) sifte $AfEE x sfw sfeRfyen
(5) rgaE W

IS ST 131132 T&0T 41 gaT e
fou fpar st 2 7

(1) i g

(2) ITFHIH Yl

(3)  3THT0T

(4) =S TaTEey udieor

(6) FgEiETE

i deh o ud e 7 8 2
(1) wHEfss -

2 WmfF - I

(3) welirerdt - et

(4) sEfesw - gdin

(5) TgafE T

AR TALKB— e TS, - TSSO T A" O - TV T

12

50.

51.

52.

83.

How many different phenotypes
will be produced in F, generation
of a trihybrid cross with incomplete
dominance ?

(1) 8 (2) 16

3) 27 (4) 64

(6) Question not attempted

Quantitative characters are those
characters which are

(1) Less influenced by environment
(2) Governed by oligogenes

(3) Governed by polygenes

(4) Exhibit dis-continuous
distribution

Question not attempted

(5)
Which one is the correct cross
combination of the origin of an
amphidiploid Brassica Juncea ?

(1) B. nigra x B. oleracea

(2) B.napus x B. nigra

(3) B. nigra x B. campestris

(4) B. campestris x B. oleracea

(5) Question not attempted

Growout test of seeds is conducted
to find out

(1)
@
3)
4
(5)

Physical Purity
Genetic Purity
Germination Test
Seed Health Test

Question not attempted

Which one of the following is not
correctly matched :

(1) Monoecism — Cucumber

(2) Protandry — Pearl millet
(3) Cleistogamy — Groundnut
(4) Dioecism — Papaya

(5) Question not attempted
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55.

56.

57.

58.

59.

60.

Which of the following is
associated with mechanism of
insect resistance ?

(1) Preference

(2) Antibiosis

(3) Tolerance

(4) Both antibiosis and tolerance
(5) Question not attempted

The precursor for the synthesis of
auxin in plants is amino acid —

(1) Tryptophan (2) Tyrosine

(8) Proline (4) Valine

(5) Question not attempted

Which of the following is co-factor
for Enzyme Pyruvate Kinase ?

(1) K* (2) Mg*

(8) Mn2* (4) Zn?*

(5) Question not attempted

Which one of the following is
aldehyde sugar ?

(1) D-Ribulose

(2) D-Xylulose

(3) D-Mannose

(4) D-Fructose

(5) Question not attempted

Which of the following nucleic acid
has a left handed helix ?

(1) B-DNA

(2) Z-DNA

(3) H-RNA

(4) A-RNA-

(5) Question not attempted

Stage of difference from disomic
chromosome number by one or few
chromosomes is known as
(1) Aneuploidy (2) Euploidy
(3) Trisomy (4) Nullisomy
(5) Question not attempted
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61.

62.

63.

64.

(@

The protein part of the holoenzyme
is called as

(1) Cofactor

(2) Coenzyme

(3) Apoenzyme

(4) Isoenzyme

(6) Question not attempted

In C, and CAM plants, the activity

of PEP carboxylase is inhibited by
(1) Glucose-6-Phosphate

(2) Malate

(3) 3-Phosphoglycerate

(4)
(5)

Rubisco
Question not attempted

The common pathway in both
aerobic and anaerobic respiration is
Warburg-Dickens pathway
Embden-Meyerhof-Paranas
pathway

Tri-carboxylic acid pathway
Alternative pathway

Question not attempted

(@)

3
4
®)

The hormone which is synthesized
by the seed embryo and released
into the starchy endosperm via the
scutellum during the germination
of barley grain is

(1) Auxin

(2) Gibberellin

(3) Cytokinin

(4) Ethylene

(5) Question not attempted

B-oxidation takes place in

(1) Mitochondria

(2) Cytoplasm

(3) Chloroplast

(4) Nucleus

(5) Question not attempted
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66.

67.

68.

69.

In the light reaction of
photosynthesis, the PSII reaction
center along with its antenna
chlorophylls and associated
electron transport proteins, is
located predominantly in the

(1) Stroma lamellae

(2) Grana lamellae

(3) Intermembrane space

(4) Stroma

(5) Question not attempted

Germination of the light sensitive
seeds of the tomato is considered as
(1)
(2)
3)
(4)
(5)

Seed Dormancy in fleshy fruits is
caused by —
(1) Hard Seed Coat

(2) Immature Embryo

(3) Germination Inhibitors
(4) Specific Temperature
(5) Question not attempted

The essential distinction between
long-day and short-day plants is that
(a) Flowering in LDPs is promoted
only when the day length
exceeds a certain duration in
every 24-hour cycle.

Promotion of flowering in
SDPs requires a day length
that is less than the critical
day length.

Only (a) statement is correct.
Only (b) statement is correct.
Both statements (a) and (b)
are correct.

Both statements (a) and (b)
are wrong.

Question not attempted

Positive photoblastic
Negative photoblastic
Day neutral

Short day

Question not attempted

(b)

(1)
(2
3)

(4)

(5)
o
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70.

1.

72.

73.

74.

In the year 2021-22, Rajasthan
stand at which rank in buffalo milk
production among Indian States ?

(1) 1st (2). 2nd

(3) 38 (4) 4th

(5) Question not attempted
Ranikhet diseases in poultry is
caused by

(1) Bacteria

(2) Virus

(3) Protozoa

(4) Parasitic disease

(6) Question not attempted

Which one of the following pairs of
breeds is not correctly matched ?
(1) Minorca — Swine

(2) Sonadi— Sheep

(3) Bhadawari — Buffalo

(4) Barberi — Goat _

(5) Question not attempted

The open floor space requirement
for an adult cow is

(1) 285 m? (2) ""5.0'm*

(3) 7.0 m2 (4) 9.0 m?

(5) Question not attempted

Read the statement carefully and
choose correct answer from options :
Statement-A :More than 80%

rural families keep livestocks

at household.
Statement — B : Animal husbandry
contribution is 9.16% in

Rajasthan state GDP.
Statement — C: 60% of the income
of small and marginal
families comes from dairy and
animal husbandry.
Options :
(1) Statement A & B are correct.
(2) Statement A & C are correct.
(3) Statement B & C are correct.
(4) Statement A, B & C are correct.
(5) Question not attempted
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75.

76.

71.

78.

-1
©

. Which hormone

In 100 kg. body weight of animal,
require to eat silage in kg/day.

(1) 2kg. (2) 10kg.

3) b5 kg. 4 8kg.

(6) Question not attempted

0il adjuvant vaccine is used for the
prevention of disease in
cattle.

(1) Hemorrhagic septicemia

(2) Anthrax

(3) Black quarter

(4) Foot and mouth

(5) - Question not attempted

Who is considered as “Father of
Plant Pathology” in India ?

(1) E.J. Butler

(2) R.S.Paroda

(3) L.M. Joshi

(4) M.S.Swaminathan

(5) Question not attempted

Ireland famine occurred in potato
crop was due to the disease

(1) Leaf roll of potato

(2) Potato mosaic

(3) Late blight of potato

(4) Potato severe mosaic

(5) Question not attempted

is known as Father of
Phytobacteriology and he proved
bacteria as plant pathogen.
(1) Walker J.C.
(2) Gram H.C.
(8) Woronin M.S.
(4) Burrill T.J.
(5) Question not attempted
causes milk
ejection ?
(1) Estrogen (2) Oxytocin
(3) Thyroxine (4) Insulin
(5) Question not attempted
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81.

82.

83.

84.

85.

86.

)

The downy mildew of Pearl millet
1s caused by

(1) Sclerospora graminicola
(2) Peronospora graminicola
(3) Peronospora arborescens

(4) Sclerospora arborescens
(5) Question not attempted

Mushrooms belong to and
are widely known for their edibility.
(1) Ascomycotina

(2) Basidiomycotina

(3) Deuteromycotina

(4) Myxomycotina

(5) Question not attempted

Who discovered disease cycle of
cereals rusts in India ?

(1) M.K. Patel

(2) B.B. Mundkar

(3) K.C.Mehta

(4) J.C. Luthra

(5) Question not attempted

Lac is usually marketed as

(1) Shel Lac (2) Grain Lac
(3) Stick Lac (4) Seed Lac
(5) Question not attempted

Which of the following antidotes
are used for carbamate poisoning ?
(1) Atropine (2) Phenobarbital
(3) Diazepam (4) Cyclopam

(5) Question not attempted

The causal organism of ‘Common

Blight of Legume’ is one of the

following. Choose the right answer.

(1) Xanthomonas gityy . P.V.
phaseoli

(2)

Pseudomonas savastoni P.V.
3)

phaseolicola

Xanthomonas citri
phaseoli var fuscans
Xanthomonas campestris P.V.

campestris
Question not attempted

P.V.

(5) !
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(3) 100-250 ATEHA

(4) 0.001-0.1 #TZREA

(5) TG A

(2) FHIHY
(4) S=AfETR

Lo

o ——— T—— — T, I T TR, L A T —. TR~
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87.

88.

89.

90.

91.

92.

Coccinella septempunctata is a
(1) Insect pest (2) Predator
(3) Parasitoid (4) Nematode
(5) Question not attempted

Callosobruchus chinensis is a
major stored grain insect pest of
(1) Green gram (2) Rice

(3) Coriander (4) Groundnut
(5) Question not attempted

Flacherie disease of silkworm is

caused by

(1) Protozoa (2) Fungus
(8) Virus (4) Bacteria
(5) Question not attempted

Cottony cushion scale is a pest of
(1) Cotton (2) Citrus

3) Gram (4) Tobacco
(5) Question not attempted

As per ASAE standard, what is
shaft diameter of Power Take Off

(PTO) of a tractor ?
(1) 3.6cm (2) 46cm
(3) 5.6cm (4) 6.6cm

(5) Question not attempted

What is the inflation pressure of
front wheels of tractor ?

(1) 0.8 to 1.2 kg/cm?
(2) 2.0 to 2.5 kg/cm?
(3) 3.0to 3.5 kg/cm?
(4) 4.0 to 4.5 kg/cm?
(5) Question not attempted

Which of the following is the
droplet size in mist spray ?

(1) 0.1-50 pm

(2) 50-100 pm

(3) 100-250 um

(4) 0.001-0.1 pm

(5) Question not attempted




94. 19 7ft F Ay IETE 99 h

95.

96.

97.

98.

&HAT T T THTE IS & 7

(1) 7rfer % FrFER e e 2 |

(2 i o & sER ST # |

(3) 7% ¥ & AR s R |

(4) ifa o @y 7 SeEar £ |

(6) FFaRa wwa .
& Ty vfF =it st 8, @ R
¥ Jars & o derers ) wmen R
gl d SeT e ® 7

(1) 34 feh (2) 44 forft

(8) 64 fit (4) 84 e

(5) gaa we

RN e 33T STeAT 3T e sdie
S uewid s amd 2

(1) Tt 3R =R ‘

(2) =7 PR STeIfeat Y ufd

(8) UEHEY

4)
6))

(1) 0.10
(3) 0.50

(5) ITgaied e

W 7 = (BIS) 7 fifée e 2 fi5
T3 9FR A FoF A I 7

BT =R |

(1) 2vfes@asa

(2) 5 wfawa @ i T&

(8) 10 yfaera @ s

(4) 10 fesra & arferes 78

(5) IeIRE e

(2) o0.01
(4) 0.40

95.

96.

97.

l94' What is effect on discharge

capacity of centrifugal pump with
pump speed ?

(1) Varies directly as the speed
(2) Varies as the square of the
speed

Varies as the cube of the speed
There is no variation with speed.
Question not attempted

(3)
4)
(5)
In a walking type animal drawn
implement, approximately how

much distance the operator has to
walk to plough one hectare of land ?

(1) 34 kms. (2) 44 kms.
(3) 64 kms. (4) 84 kms.
(5) Question not attempted

Conventional water lifting device
Persian Wheel consists of which
components ?

(1
(2)
3
(4)
(5)

Rope and bucket

Chain and a row of buckets
Form of screw

Boat shaped trough
Question not attempted

The geometric mean of 2 andiis
16 25

(1) o0.10 (2) 0.01

(3) 0.50 (4) 0.40

(5) Question not attempted

Bureau of Indian Standards (BIS)
have specified that the total grain

loss from a mechanical thresher
should

(1) be less than 2 percent

(2) not be more than 5 percent
(3) be more than 10 percent

(4) not be more than 10 percent
(5) Question not attempted

02



99.

- 100.

101.

102.

103.

02

A r =+ 1 8, @ wwmE f § W

(1) maATR A E |

(2) T g FH A Bl 8 |

(3) Temelt oft foig w sfereag et € |

(4) T A HIE AL

(5) I S

X 3R Y rdaq agfRes = g | Ak
Var(X) = Var(Y) = o2, Cov(X, Y) =

2
%,a‘r Corr(2X + 3, 2Y — 3) &1 M

3 I |

(6 4 i §

(3). 0.5 )
(5) T SRA
(4 x 3) 30 T 3TTET RO % o Hrg-
Tt Y T wifeat fhat gt ?

(B 12 @2 9

(3) 8 4) 6

(5) I A

I8 Frfireae iy &9 ¥ & s &
firu Sugd 2, e ST A Hen At
8 Bt & 3R sEvTTees 8§ Seareshdl
FEUTT qEIHT I Bl @ |

(1) QUg AT

(2) e Argfeshigd St
(3) «ifen ot At

(4) fover spave AfrereT

(5) STITG ¥

gfe et A & g Jg0 § TH I
T 5’ Sirg & 1Y A SHHT A [
(1) rafEfda @ |
(2) 5% "I |
(3) 5 @I |
(4) 25T &g A |

(5) Jrgeiid S

2.0
4) 0.67

!
l
|
!
|
|
|
I
I
1
|
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99.

100.

101.

102.

103.

If r = £+ 1, the two regression lines
are
(1)
(2
(3)
(4)
(5)

Parallel.

Perpendicular to each other.
Intersect at any point.

None of these

Question not attempted

X and Y are discrete random
variables. If Var(X) = Var(Y) = o2,
2

Cov(X, Y) = "? find

Corr(2X + 3, 2Y — 3).

(s 1 2 0

3) 0.5 (4) 0.67
(5) Question not attempted

What will be the degrees of
freedom for chi-square in case of
contingency table of order (4 x 3) ?
(1) 12 2 9

3) 8 (4) 6

(5) Question not attempted

A design is especially suited for
field experiments where the
number of treatments is not large
and the experimental area has
predictable productivity gradient.
(1) Randomized Block Design

(2) Completely Randomized
Design

Latin Square Design

Split Plot Design

Question not attempted

3)
(4)
®)

If a constant value ‘5’ is added to
each observation of a set, the
standard deviation will remain
(1) unaltered
(2) reduced by 5
(3) increased by 5
(4) increased by 25
(5) Question not attempted
o




104.

105.

106.

107.

AT 95 F ATHR % e a%g 6 i
A ®, g = wiwnaT w1 Fw =
W%&W

() e (2 e<l1

B) e=0 4 e=ow

(56) 3T S

WId TR 7 foqum swremafy 2023-24 %
fore fraft wtiw waell ®1 =Eam Twe
e wifya fepa ¢

) -7 (2) 12

(3) 14 (4) 24

(5) iy
FRH-TioeT g & aga o™ %

Frem & -
I 3fe vl smue gea g )
HA 8, O Al gamaa) w1 s
TN FTH AN HT HY FHE A0
HHAT R |
II. 7 gfoeam sHue 9e9 F9amE &
s 2, @ wfeenfa gamyEl w1
s YT W ArE B R
P s ® |
uﬁuﬁanwagmwaaqm%
TR R, Al Ig JFaH T 1 fag
AR |
Frefafea d & S @ s i 22
(1) Sadl (2) wad eIl
(8) hae 111 (4) I IISIII
(5) g S
fovr spave srfirhew § ge @ 3R
E, 7o 3v@ve 3 E, % o frefofea |
H’é@:s’m%:
(1) E,=E,
3 E,>E,

(5) IraRE T

III.

(2) E,<E,
— 2
)~ B =8

104.

105.

106.

10

Regardless of the shape of demand
curve, as the price of commodity falls,
the total expenditure of consumers
on the commodity rises when

1) e>1 @2 ex<1

3 e=0 4 e=ow

(5) Question not attempted

For how many Kharif crops, the
minimum  support price was
announced by the Government of

India during Marketing season
2023-24 ?
(212

1 7
(8) 14 4) 24

(5) Question not attempted

Profit rules under the principle of
Factor-Substitution

I.  If the substitution ratio is less
than the price ratio, one can
reduce the costs by using the
more of added resources.

II. If the substitution ratio is
greater than the price ratio,
costs can be reduced by using
more of replaced resources.

III. If the substitution ratio
equals the price ratio, it is the
point of least cost.

Which of the following is not
incorrect ?

(1) OnlyI (2) OnlyI &II
(3) Only III 4) LII&III
(5) Question not attempted

7. In a split plot design, the following
relation exists between the main
plot error E, and subplot error E,.

(1) E,=E, (2) E,<E,
)
3 E,>E, 4 E, = Eb
(5) Question not attempted
02
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109.

110.

02

-(6)

f=faflgs 4 @ 9 91 IR g=fRE
difigs graer IR (TRIPs) ¥ TSR
TE g g ?

(1) YHEHTHR

(2) gE-"

(8) afrenfires fesme

(4) WTEATHS Sl

(5) eI e

2 ufEiemT g a8 geEfd
%8 HoH fgumu E

A, i giewe 1 gt 3R gTaE
Frafe 3 ey e oy BT 8 |
forelt afEer &1 faa adam 3o
I Tft TG AR 6 T g
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Hehet & et o @mTa TgeTa |
ST T § SATET R 8 |

va fAae @ SrTa STuE Y
e B & a9 g wied
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WEFTWW:

(1) A, B3RC

(2) FEABIRD
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(4) FIABIRC

JaRa w9

e e e b gE WU % fog
eaffea s A A S AT A TT R 7
(1) TPP G UG |
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|
|
|
|
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1
|
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|
|

23

108.

109.

110.

Which one of the following does not
pertain to Trade Related Intellectual
Property Rights (TRIPs) ?

(1) Copyrights

(2) Trade marks

(8) Industrial designs

(4) Quantitative restrictions

(5) Question not attempted

Given below are some statements
relating to project appraisal
techniques :

A. The Internal Rate of Return
is  approximately directly
related to the payback period.
The Net Present Value of a
project equals to the sum of
present values of all its cash
flows. '

The difference between Gross
and Net Benefit Cost Ratios is
greater than one.

When Net Benefit Cost Ratio
is greater than zero, accept
the project.

Choose the correct answer using
the codes given below :

(1) A BandC

(2) BandD only

(3 A, BandD

(4) B and Conly

(5) Question not attempted

Which one “of the following

statements is correct for Stage-2 of

classical production function ?

(1) TPP increases at increasing
rate.

(2) TPP increases at decreasing
rate.

(3) TPP decreases at increasing
rate.

(4) TPP decreases at decreasing
rate.

(5) Question not attempted




111.

112.

113.

114.

S v e A we w6
g ot ?

(1) 15 9@, 2015

(2) 25, 2015

(8) 15 3FTE, 2016

(4) 25 T4asy, 2016

(6) Igaf@wT

frafofas & & =5 & vieem wfy =
g # yfd 361 e ¥ Hfieaw o
T A 6 Y & g T oft 7

(1) SATEHe U TR

(2) <N fogm g

(3) TENTIITE ¥ W HEFH

(4) TER eI gfEeE

(5) 3TFRE ¥

= % @ o @ Srres ot geRh B #
St 3 7 formdl ) a0 iR w0 & 9«
wer # Jitea o TR R gH A § 7
(1) i agEE

2) Trag

(3) fomem wgeers

(4) wur

(5) JATaRa gH

TR TP FHY aR F g
TR Ha T T NeaTes &

(1) oY F9% FN Ha@a 1

(@) Tt F wEeHrt o wgrer

(8) i wewlt faeera form

(4) uRd 1 U wie wee= fafies

(5) JgEIRG WA
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111.

112.

113.

114.

When was the Pradhan Mantri
Kaushal Vikas Yojana launched ?
(1) 15tk July, 2015

(2) 25th July, 2015

(3) 15th August, 2016

(4) 25th September, 2016

(6) Question not attempted ‘

Which of the following projects was
initiated with view to obtain
maximum return per unit area per
unit of time ?

(1) Operational Research Project
(2) Krishi Vigyan Kendra

(3) Lab to Land Programme

(4) National Demonstration
Project

Question not attempted

()

Who are cautious and skeptical
and adopt new ideas just after the
average members of the
community ?

(1) Early majority

(2) Laggards

(3) Late majority

(4) Early adopters

(5) Question not attempted

The lead promoter of online

trading platform of electronic

National Agriculture Market (e-

NAM) is

(1) The Small Farmers
Agribusiness Consortium

(2) National Agricultural

Cooperative Marketing

Federation

National Cooperative

Development Corporation

National Stock Exchange of

India Limited

Question not attempted

3)
(4)

(5)
02
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116.
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T8 fehan ek g amiives
T % gest & d9 o P et
Y FaTER 1 H=R R e # |
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115.

116.

117.

118.

is the process by which
an innovation is communicated
through certain channels over time
among the members of a social
system.
(1) Communication process
(2) Diffusion process
(3) Adoption process
(4) Innovation-Decision process
(5) Question not attempted

Which of the following are the
principles of PRA ?

1. Offsetting Biases and
Triangulating

2. Optimal Ignorance

3. Mutual Sharing

4. Seeking Diversity

Select the correct answer by using
the codes given below :

(1) 1,3and4 (2) 2,3and4
3) 1,2and4 (4) 1,2and3
(5) Question not attempted

Which of the following is a group
method of extension teaching ?

(1)
(2)
3
(4)
()

Farm and home visit
Farm clinic

Field day

Exhibition

Question not attempted

is the family where a
man marries more than one wife.

(1)
@)
(3)
(4)
(5)

Polygynous family
Polyandrous family
Patrilineal family
Matrilineal family |
Question not attempted




119, TOITER-FUY

Him HeE frffaa
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(5) orgeia W

123. P i Wiy =1 ygE s SR A T ?

39 R farfer s =1 v
T SHiGRT gRT Sgar saad
T TERI G TG T F
Tk &A1 Hgeh fAmtu
A A

(1
2
3
(C))
()

124. = & @ form g0 = 8 9T fawifea

T g E ?
(1) e
3) el
(5) I wE

2) IEraTE
(4) <Egw
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119.

120.

121.

122,

123.

124.

(3

The Ganeshwar-Jodhpura Copper
Complex is related to which
pottery among following ?

(1) Ochre colour pottery

(2) Black and Red ware

(3) Northern Black polish ware
(4) Painted Grey ware

(6) Question not attempted

Which of the following Forts of
Marwar fell to Akbar’s subjugation
in early 1562 A.D. ?

(1) Siwana (2) Bhadrajun
(8) Mehrangarh(4) Merta

(6) Question not attempted

Apart from the ‘Harikeli’ drama,
which text has been engraved on
the Adhai Din Ka Jhopra ?

(1) Lalit Vigrahraj

(2) Prabandh Kosh

(3) Samaraicha Katha

(4) Dravya Pariksha

(5) Question not attempted

Who led the boycott of foreign
clothes in Ajmer during the Non-
co-operation Movement ?

(1) Pandit Gaurishankar

(2) Chand Karan Sharda

(3) Ram Narayan Chaudhry
(4) Shobha Lal Gupt

(6) Question not attempted

Which one of the following was the
main reason for the ‘Mer revolt’ ?

(1)
)

Attempt of British control
over them
by

Increasing interference
local landholders

Increased Taxes by Maharana
of Mewar

Road construction
areas

(6) Question not attempted

From which of the following
archaeological sites, coins bearing
Greek signs have been found ?

(1) Ahar (2) Ahirwara
(8) Dareeba (4) Jodhpura
(6) Question not attempted

in their

(4)

02
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128,

129.
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125.

126.

127.

128.

. Who was

Which of the following books were
written by Govind, a famous shilpi
of Maharana Kumbha ?

A. Udhardhorani B. Kalanidhi
C. Rajvallabh D. Dwardipika
Choose the correct code :

(1) Aand B (2) BandC

8 A,BandD (4) B,CandD
(5) Question not attempted

Which of the following Bundi
rulers is  depicted  serving
Shrinathji in the Chitrashala of
Bundi Palace ?

(1) Ram Singh

(2) Chhatra Shal

(3) Ummed Singh

(4) Bhav Singh

(5) Question not attempted

Which one of the following group of
folk musical instruments is not
correctly matched ?

(1) Mridang, Chang,
Naubat
(2

Pungi, Algoja, Nad, Mashak
(3)

Ravanhattha, Jantar, Nishan,
Satara

(4)

(5)

Manzira,

Khadtal :

Question not attempted
Which of the following is not a folk
dance of the Garasiyas ?

(1) Kood (2) Mawaliya
(3) Loor (4) Vallar
(5) Question not attempted

Khanjari,

Jhanjh,  Thalj,

appointed the first
Rajpramukh in various phases of
the formation of present Rajasthan ?

(1) Bhim Singh
(2) Udaibhan Singh Deo
(3) Mansingh II
(4) Bhupal Singh
(5) Question not attempted
n]
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131.

‘Chahal Pujaris’ are related with
shrine of which folk deity ?

(1) Pabuji (2) Ramdeviji
(3) Mehaji (4) Gogaji
(5) Question not attempted

‘Bheem Vilas’ composed by poet
Shankar Rao is written in which
Rajasthani dialect ?

(1) - Mewari (2) Bagdi

(3) Dhundhari (4) Ahirwati
(5) Question not attempted

Which of the following book/books
was/were written by Suryamal
Mishran ? Select the right choice
with the help of code given below :
i.  Vansh Bhaskar

ii. Ramranjat

iii. Dhaturupawali

iv. Raj Rupak

Code:

1) i (2) 1i,ii,iii
3) 1i,iv 4) i,ii,iv
(6) Question not attempted

Ramgarh Crater (World heritage
site) is situated in

(1) Kota district

(2) Jhalawar district

(3) Bundi district

(4) Baran district

(5) Question not attempted

Which of the following is the
correct group of peaks of the
Aravalli mountain ranges having
height more than 1000 metres ?

(1) Kumbhalgarh — Leelagarh —

Sajjangarh
2

Rishikesh — Kamalnath’s Hill
(5) Question not attempted
(1) Lalasar (2) Panchla

Raghunathgarh
Marayaji — Sayra
(3)
— Delwara
(4) Roja Bhakar — Jarga — Mt. Abu
Which of the following is not a
‘Jasnathi Sub-peeth’ ?
(3) Bamlu (4) Malasar
(6) Question not attempted

Dur
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(A) Frehftig () ™

(B) ft (i) 3@

(C) wrét (1ii) WA

(D) & (iv) |rft

%<

(1)
()
3)

@A) (B) (©) (D)
i) Gv) @) (i)
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@ G (Gv) (i)
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02

29

B SR —

136.

137.

138.

139.

Which of the following pairs is
correctly matched ?

District Lakes

(1) Bundi - Bhimtal, Jaitsagar

(2) Dholpur — Talabshahi,
Bhimsagar

(3) Jalore — Balsamand,
Jaisagar

(4) Dausa - Jhilmili, Motisagar

(5) Question not attempted

According to Koeppen, which group

of districts come wunder “Aw”

climatic region ?

(1) Udaipur, Jalore, Sirohi

(2) Jaisalmer, Bikaner,
Ganganagar

(3) Banswara, Dungarpur,
Jhalawar

(4)

(5)

Pali, Jaipur, Churu
Question not attempted

Following soil characteristics viz.

(a) High percentage of salts

(b) High pH value with Iless
organic matter :

are found in which type of soil ?

(1) Red Loam Soil

(2) Black Soil

(8) Alluvial Soil

(4) Sandy Soil

(6) Question not attempted

Match List-I with List-II and
choose the correct answer from the
code given below :

List-I
(A) Kalisindh
(B) Luni
(C) Mahi
(D) Banas
Code :

@A) B) (C) D)
(1) @) Gv) @ G
(2 @G) G @O 3Gv)
3 @ G Gv) (i)
4) @ Gv) @) (i)
6))

Question not attempted

List-I1
(i) Anas
(ii) Dhundh
(iii) Parvan
(iv) Sagi




140.

141.

142,

143.

144.

145.

2011 N SOMT F FIER, TRAH &
fomm forett & wmerar < st afk
AR ?

(1) AR 3R AR

(2) T IR

(3) I 3R yaTITR

(4) R AR F

(5) Iruia Sy
frafefea 4 @ 9 a1 b S
gf& R (2001 & 2011) ¥ IR @@
TR 369 § goaaferd @ 7
Gﬁﬂg{,fﬁﬂ@,w

(5) 3rFaRa =

e <o & wgam @ TowE A T
Sa-fafywar fowm wfe (RFBDP)
T A gurfa I @ R 72

(1) <UH )

(3) wE (4) &

(5) ey

qET gwTfea & HrEma (&9 ), #
IR T o fopg 99 @ e mam e 7
(1) 2009-2010 (2) 1980 — 1981
(B) 1971-1972 (4) 1974- 1975
(5) ITgaRa we

frefefea & &+ @1 wf stgare e
% eiteral Te Aufedn &7 ° qrr S € 7
(1) @ (2)

3) s (4) ffeam

(5) I e

a7 faum, Toem aiffes fad 2023-24
% IER, T %1 W =fd ahem
TSR] T JETER R :

(1) 0.027FRI (2) 0.037 FFRW
(3) 0.022FFRI (4) 0.032 TRW

(5) TG ¥

140.

141.

142,

143.

144.

145.

Which districts of Rajasthan have
the maximum and minimum
literacy rate respectively as per
2011 census ?

(1) Jaipur and Jalore

(2) Kota and Jalore

(3) Ajmer and Pratapgarh
(4) Jalore and Kota

(6) Question not attempted

Which of the following is correctly
arranged in ascending order as per
their decadal population growth
rate — 2001 to 2011 ?

(1) Jodhpur, Banswara, Jaipur
(2) Jaipur, Banswara, Jodhpur
(3) Jaipur, Jodhpur, Banswara
(4) Banswara, Jaipur, Jodhpur
(5) Question not attempted

With the cooperation of which
country, Rajasthan Forestry and
Biodiversity Development Project
(RFBDP) is being operated in the
state ?

(1) Japan (2) Germany
(3) France (4) Russia
(6) Question not attempted

‘Drought Prone Area Programme’,
(DPAP) was started in which of the
following years in Rajasthan ?

(1) 2009 -2010 (2) 1980 - 1981
(3) 1971-1972 (4) 1974-1975
(6) Question not attempted

Which of the following mineral is
found in Leelwani and Naradia
areas of Banswara district ?

(1) Gold (2) Zinc

(3) Manganese (4) Beryllium
(5) Question not attempted

According to Annual Report 2023-
24, Forest Department, Rajasthan,
Per Capita Forest and tree cover of
state is :

(1) 0.027 Hectare
(2) 0.037 Hectare
(3) 0.022 Hectare
(4) 0.032 Hectare
(5) Question not attempted
02



146.

147.

148.

149.

150.
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Hfifer i wwfa wdften 2023 % HER,

T 1 Fafefiga & @ =59 a1 fen
Iean ‘g e g A ® ?
(1) €Eg 2) Heft

(3) wigaTS! (4) TG

(5) ST S

T |y = firet fore ad o wenfim
HITE ?

(1) 1932 (2) 1937

(3) 1965 (4) 1976

(5) Irgid Fe
“qifefamii=e : uied heg we Rifdess;
T HHERfT qEufree” g
FACHIHE 7

(1) WIZTR  (2) &. wE. 9EH

3) onfemfemr (4) sEwEER

(5) IFFTING wE

fafafegs & @ =9 @1 fywafigaem

HIAHT 3T FHe™ 11E (MAKA) 2!

2024’ %1 gy s g 7

(1) 7% < favafagame™

(2) SETEET JeE favafagae™

(8) waE WhyHet iAafdd

(4) =g favafagaey

(5) rgeid 5w

FYT (A) : TTYH § G ol foemre Y
7Y gryreETd § |

RO (R) : Wigem |l 9 2,245
WITETe o] ATell T &1 g8
 SSIEHR YRR R |

(1) (A) 3R R) g+ =t & 3t (R),

(A) Fi gt =TET £ |

(A) 3R (R) g1 @t &, g (R),

(A) ) 98 =TT TS # |

(A) @& 8, g (R) A 2 |

(A) TeTa 8, 9 (R) &1 2 |

AN S

@)

3
(4)
()

l
|
|
|
|
|
|
|
|
l
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146.

147.

148.

149.

150.

According to NITI Aayog Progress
Review 2023, which one of
following districts of Rajasthan has
highest ‘Multidimensional Poverty
Index’ ?

(1) Dholpur (2) Karauli
(3) Banswara (4) Pratapgarh
(5) Question not attempted

In which year the first sugar mill
was established in Rajasthan ?

(3, 1982 (2) 1937
(3) 1965 (4) 1976
(56) Question not attempted

Who is the author of book
“Parliament : Powers Functions &
Privileges; A Comparative
Constitutional Perspective” ?

(1) Raghuvendra Tomar

(2) K.S. Chauhan

(3) Aditya Sinha

(4) Anuja Chauhan

(5) Question not attempted

Which of the following Universities

is overall winner of ‘Maulana Abul

Kalam Azad (MAKA) Trophy 2024’ ?

(1) Guru Nanak Dev University

(2) Jawaharlal Nehru University

(8) Lovely Professional
University

(4) Chandigarh University

(6) Question not attempted

Assertion (A) : Rajasthan  has
the infinite potential for solar

energy development.

Reason (R) : Bhadla Solar
Park is Rajasthan’s largest
solar power plant with
capacity of 2,245 MW,

Both (A) and (R) are true and
(R) is the correct explanation
of (A). .

Both (A) and (R) are true, but (R)
is not the correct explanation
of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.
Question not attempted

(1)

@)

(3
4
(®)

31




02

2

& & % ¥ ®W / SPACE FOR ROUGH WORK

32



